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QUESTION 1

Which of the following commands can be used to extract files from an archive? 

A. tar -vf 

B. tar -xvf 

C. tar -evf 

D. tar -e 

E. tar v 

Correct Answer: B 

 

QUESTION 2

Which of the following commands can be used to create a file? 

A. touch 

B. build 

C. nico 

D. create 

E. mkfile 

Correct Answer: A 

 

QUESTION 3

What is the output of the following command? 

tail -n 20 test.txt 

A. The first 20 lines of test.txt. 

B. The last 20 lines of test.txt omitting the blank lines. 

C. The last 20 lines of test.txt with line numbers. 

D. The last 20 lines of test.txt including blank lines. 

Correct Answer: D 

 

QUESTION 4
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What is the first character for file or directory names if they should not be displayed by commands such as ls unless
specifically requested? 

A. \ (backslash) 

B. . (dot) 

C. - (minus) 

D. _ (underscore) 

Correct Answer: B 

 

QUESTION 5

Which of the following answers are true for cloud computing? (Choose TWO correct answers.) 

A. Cloud Computing provides new tools to manage IT resources. 

B. From the business perspective, Cloud Computing means outsourcing or centralization of IT operations. 

C. Cloud Computing is the opposite of green IT; i.e. the use of fossil, non-regenerative energy for computing. 

D. Cloud Computing implies sharing all information with everyone else in \\'the cloud\\'. 

Correct Answer: AB 
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